ASSISTANT DIRECTOR (RPC) TN THE DG TE OF ECONOMICS AND
STATISTICS

Examination held on 21-09-2023 (FN)
General Paper (Paper - 1) (Subject Code: 553)

KEY CHART
Question Booklet Series - 'C'

Total Marks : 300 3 Marks for each question
Question Key Question Key Question Key Question Key
Number Answer Number Answer | Number Answer Number Answer

1 4 26 4 51 3 76 3
2 4 27 2 52 2 77 2
3 1 28 2 53 1 78 2
4 1 29 1 54 4 79 4
5 3 30 4 55 3 80 2
6 2 31 3 56 2 81 3
7 1 32 2 57 3 82 1
8 4 33 3 58 3 83 1
9 3 34 3 59 3 84 3
10 2 35 2 60 1 85 1
11 4 36 1 61 2 86 4
12 1 37 1 62 3 87 1
13 2 38 1 63 4 88 3
14 3 39 1 64 3 89 3
15 2 40 3 65 4 90 1
16 3 41 4 66 4 91 2
17 1 42 2 67 2 92 3
18 2 43 3 68 4 93 4
19 3 44 3 69 3 94 1
20 1 45 3 70 4 95 3
21 2 46 4 71 2 96 1
22 1 47 2 72 3 97 1
23 4 48 3 73 2 98 4
24 4 49 2 74 1 99 1
25 1 50 1 75 1 100 3

Note: Every question for which wrong answer has been given by the candidate, % th (0.25) of the
marks assigned for that question will be deducted.

Sd/-
Controller of Examination
Karnataka Public Service Commission
Bengaluru.




WWW.SHIKARAT.COM
I, o fofeb ol Il =y

/_———-—’—\/r
M
J ML 5t B

| 2023

B PRI oy .
%, qc-e@é

8780107 TORIOT, BB (ﬁ@é-l)

I I ——

e« 11 ot | RN Todeg: 553 1105 S0FrTeD : 300

#f——_‘ el ——
ﬁ@wﬁﬁeﬁb TP BROMH O wong 9%,

eATDS SN 6’:5:}?
3 Swh3mend “5T ZO0o 2t Feehths 1
woes Todonmd dedde A TERIEOL il 3 wgm 242 : ; . -
1. LC; EU;U :;;dméwg m:gmmhrﬁ < uge Jertod TREF TIalsonn wdm&phiﬁ%ﬁ?&. oth Sed SOOI Eo e LG oound,
E ' : i B T T oN
ouih HobeoIc AntXEn0s THBHOSE TolRhATY 20 Sriprone SaBRITNO -
OMR o33 ZPohd DR TSes Eeintd) DeRmE ARBENTEY, Lﬁﬁgaggid}_

[=]

Byiprod g 3dcd Brriods 3= .00, wust eab® OIHNDY wde .b;gdgjéeox: gcréomnd:wdc DO, aaasaakiagﬁcs:. a‘bnﬁm’mb
-l

¥omd 2060, "‘x&é:ggs rbag, S B IN, .20, WIS Ty apgmNed IO P Fdods HdowIum, .

oSy e ISRI sosne VLI, TAtons 50&35
ZgEcd Pergode AT Smroded ROB0NW, FBRORSeR. | | l |

5. TYSY wohad I
=3, Bedong jed DEAR, wdobeomh.

6. = Zpzasols 100 TEnvEs, wrt.racad:gd g&&:ﬂO@ g,sla::o 4 :;;{f%ﬁdm‘ u:rb;cad‘.gd e \‘IUE_'_U m#mg it Serdenms t‘ﬂgdf?ﬁi 303%
. ;g;;é'&?;{ Loth ﬁf@— Q‘Q S:CCSﬁ.Oa Gﬂ.’i:..“ Hoodm :.’\J:idﬂ{':ﬁci:o:b ey @‘-’-;hdd P 53:‘_}%&;33:33 fﬂ-‘ici e SR0. ol STUoE 33 5!&?1 23
fesie nod wIdHE, H0g sody Smmed. woth S¢ LoTsos B wIoRIH, Smrdne S=ady Y 3oV, wromhTem Do ETeroRT. )

) St s o FanduEdng SOE. ¥NE GRANHOS cime B¢ FROITAR SRACE RpodomRny, eRprTsy Yoff FRle®

PRI, AT Areadeom ZJOLE, e FR8RYRIEy, =
AGT BEE L.O0UT. 030 ZEcd Sed fEL T moermmomorr B339 (black ball point pen) Swg, D

8. oup wudonem, oEen wahw
paanincfaty.oN .
g, w@Brods I=H personalized 2.50.8%F. 00 by =eOZmNdE =R
Bethots Lode aowne, DUITBLAAYBYT SRy o wong eRfress ains Beclobsh, ZEBIECET W
Z3em, MEIE, BUDGD YHHFOD Wa0LT. 30 TRdchY EBFRALE FH3Fcd Jnre Zneady BPOERT
10, womd ¥ sfHrom geday), SEOFCD personalized &.20.80" @3g * mevogd Uclebliny] o3BT 2.00.80°. evdd

oy Berd, TLES dreerFy I, @0IREY sonSmRnt Esb e
Hodsehachzes 20tnBT v, P

4 ZonrizeRrbaHmd. .

HOYODTY, w2ogkalomd

Tendgeerogm. = .
1l ©u@Foy Personalized 8.00.5T. €030 Tedong AROTBAT YO o SeEed), FATQ voIB SLEHFOD 220507, Y030 TRYOH, VOO
Tonsdgoarng @,
12. =z@Fo Non-personalized .90.80°. ©0EU Todod® evdoATY LHPrOP dreosed Tosd wWH w3zes Beedodid, LONADE XYEQ LoD
HoLOGTE, BFTeh, SFERE SRR, ANOTAAG RYOY FEpobmn Ao SROBITY. 3209, woIm GEPred L0, 38 Tedodd, woGhEom
ontizoerh. . :

13, TedoRer baer (mused mé)sY wifredn 3T b TIIFEY
14, SrOras Srood okRRT RNV WHORATY S0TE n.H0.UT. (T TRvobwy wroibalort TordReorb.
15, ety TmabI, ReihE LoD 08 WO e L0080 WY TIHY amde XD RIS RQees. Fodegrch 0w
ARODT £.308T, 030 THECSR, I, Tvg Trmisom Sgf HIRTIINS B, wFEgAe WOSTIR, :
6. SHOFOR BLFT b3 02080, €38 méad (Candidate Copy) TSI 08 wolTiobad FIRTIICA Asemedn HOTIPRRYIE T
solperiy) Rt XoTEFCY mEhTBte Apngd, Sy ede JIDE, TERIBAIY, ) i
17. ?‘a‘-__?‘ ﬁUﬁﬁT@ﬁ u—_‘a‘gﬁqa:k i?ﬁpgaw SEESOL"A:Q, ZebnemAd. gs\iw%ﬁ@ Q@h@d olma mﬁdgodm afﬁ) odmes De30W rtd:EIFbA mﬁéﬁdg
5. 3, Co3SNOR DRRCRIL wow :
S Hrobon 3T, hhd FRWVY LIt Ko, IPITLHT:
. =y ’ ks - T
@ =z emgdno h ey 3%“’**552‘ Redenhdl. B8 Do e orad g@dmgd DeRng & JIn AroZesces ecandd 1/4 (0.25) o= eso8ndiy Jdozd
CRTERE FHabordYD. ko . -
(i) egprond Lo ZU Lomios T euddn, peady, edddLoD
serciododoe & YIR Sodm) AR, °
(ii) egRrom cipde TIR WIDIB 2O wyY, BoET wgdaﬁh cOZY 8 IR cinFte Ferdny, AQIROZH0Y.

¢ugdsy FooIRnGde AT LT, 3T), 1ot womb SonBRer T, vars, Sed

ot
ctRye Otaab ARG ARt T, mEE e, BT R Lo v ST 38 adme /eyttt woRddionve,
Hoess eHgronvd) SDPTRL, AN, ]

Note : English version of the instrqufnted on the back cover of this booklet. -

563 (1-C)

Scanned by CamScanner



' (3) towees®

5563

Sang WETEEOLY _ oY
3303, Beand e BomRd WeddIS-
1) SEIIE FBRes 3R 8D

@ R[S, 003

3) B3P OUNI Beeng

@) BedIFND e,

BROBNT  WRORTEIO3D
néo3m TToRO WORSODY, ReaQe0ddTOT
wdmdﬁﬁ@&g{ WPRPORT.

(1) OIRRI

(2) ©TBITT0

@) mwadh dmR

(4) BoeOZTRNED O,

“DRST DOTINT”  BBY  “BORI

VRN Q0W BN, FOFPRY
ZO3RE0TN WIRTRTIBT. &S 2NET

DTINSD S A0RD, BWRTO
39908 DOFHR) LETCON BIVRIIE WOTD
QTORNG.

(1) NETBR LSQON

(2) CO,

(8) TP

(4) 0T C3RPTR B,

I[PCC o wdeéﬁ@eéodd 53?5:;20‘6‘ B&d
o3RodR QR Soériedm REoF 08,
LBNRORTNS, LTI, ),
0 SRROJERN CWHdeeNTOTT.
(1) D000 Qedned -
2) DETTOR LROND

@) RO SRITR B,

(2-C)

WWW.SHIKARAT.COM

aeaﬁdaqgéo&
2y 308

BrowRTE, & doocbaﬁ ad
RRBBOBR, RrodTLIeB
R O aa‘zjedﬁ@ozﬁa foleve
@arbd ¢ RING 3ag 2,500
Y ﬁedﬁfﬁa’) m:aotbdzﬁeéa o3y ©ns
TYPT SRV R, 0T IF, Je.
80 O, sdn-Enonsed 4
2 9T WO DPeRnPor 2503eRNOB
w8 3T ne 35, 3,500 wzjedﬁeiab
2po003E R ©WO T2 T8
Soew. ARRomes BIF, 60 SR,
3SBOBRoBTTLIET

(1)

(@) Res w0 Duiedindord IR

ARnd 8w 1,500 TIeTnE=R,
Bpo0THeR BB ©TT THIT

- B RRB[AFNY g 70 TW),
B$oBRoRTLIEE

(@0 BB SRITR ©Y,

(P03 4 36D FIFID mmeaﬁeéﬁ:q

TROOAT :

(1) PIE SRRV, ﬁég&o zﬁasur'{#o,
QOBRE-WIIF ROAD 03 TOOTR0T*

(2) HRROD, 2853 U,
QOTRE-WTF VOO B ROOTTROT™

(8) HLRPHOOD, BB FURD,
R0TRE-WEF WO - fao@ojnmow)g

(4) FeOT BRJTR B,

Scanned by CamScanner



1.

2.

'553

T
WWW.SHIKARAT.COM

Climate change affects ocean habitats by -

(1) Lowering oxygen
(2) Decreasing phytoplankton

(3) Killing coral reefs.

(4) All of the above

Climate change involves significant
changes in average conditions such as :

(1) Temperature

(2) Precipitation

(3) Wind pattérns

(4). All of the above

The terms. “global warming” - and
“climate change” are sometimes used
interchangeably, but global warming is
just one of the ways in which climate is
affected by rising concentrations of :

(1) Greenhouse gases
(2) CO,

(3) Methane

(4) None of the above

The objective of the IPCC is to provide
Governments at all levels with scientific
information that they can use to develop :

(1) * Climate policies |

(2) Greenhouse gases
(8) Ozone

(4) None of the above

(3...0)

I\

reg!

(1)

(2)

(3)

(4)

qualify as a biodiversity hotspot, a

.on must meet two strict criteria :
Contain at least 2,500 species of
yascular plants (known as endemic
gpecies) and have lost at least
g0 percent of its primary native
vegetation |

Contain at least 3,500 species of
vascular plants (known as endemic
species) and have lost at least
60 percent of its primary native
vegetation

Contain at least 1,500 species of
vascular plants (known as endemic
species) and have lost at least
70 percent of its primary native

vegetation

None of the above

India hosts 4 biodiversity hotspots :

(1)

(2)

(3)

(4)

The FEastern Himalayas, the
Western . Ghats, the Indo-Burma
region and the Sundaland

The Himalayas, the Western Ghaté,
the Indo-Burma region and the

Sundaland

The Himalayas, the Western Ghats,
the Indo-Burma region and the
Indialand

None of the above
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7. Example of endemic plant : 1o, A ' ; :
_ the organisms wide environmental factor
(1) Nepenthes khasiana solerance limit shows :
(2) Acer oblongum 1) NarI'OW. distribution with low
population size
dioica
(3) Balanophora dioi () Wide distribution with high
(4) None of the above population size
(3) Narrow distribution with high
' _ o population size
8. The importance of genetic diversity | (4) Wide distribution with low
leelves; population size
(1) G_enetlc dw.EI,-Slty glfres sy -t 11 Which statement is correct with respect
different physical attributes to the | ™ to the food chain ?
individual and capacity to adapt to (1) Every component of the food chain
stress, diseases and unfavourable forms a trophic level.
environmental conditions (2) _ Inter-relation between different food
ins i food web.
(2) Genetic diversity is important for a f:]]f]:: 1shk1.10_wxf1 il adol? wi ]
i Sa e ) e nutrition
healthy population by maintaining | (& ) LE TS S Y G and
different varieties of genes that energy flow. .
might be resistant to pests, diseases 143 . Al of Bic:ghove
or other conditions _
) o 12. The bottom area where production is less
() Genetic diversity reduces  the than respiration in a pond ecosystem is
recurrence of undesirable inherited termed as :
. e (1) Profundal zone
(4) All of the above (2) Tidal zone
(3) Benthic zone
9. The natural place of an organism or (4)  Limnetic zone |
Commulllty 1S known as: . 13. Whl ch Of th e fO].lOWing A not the
(1) Niche characteristic of °° selected SpECiBS ?
(1) Reproduce qui
(2) Biome d Trkly
(2) Parental care
(3) Habitat (3)  Alow survival rate of progenies
(4) Habit (4)  Produce large number of progenies
553 (5- C)
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ccording to Shelford’s Law of Tolerance,
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Which of the following is nof the|2q
characteristic of a population ?
(1) Natality *~
(2) Mortality o
(3) Stratification®
(4) Sex ratio~”
The ratio between energy flow at different
points in a food chain is known as
(1) Ecological capacity
'(2) Ecological efficiency
(3) Ecological assimilation
(4) Ecological potential
The ability of a population to increase
under ideal environmental conditions is
called :
(1) Natality
(2) Carrying capacity a1
(3) Biotic potentialv
(4)  Absolute natality
In an ecosystem, the energy flow is :
(1) Always unidirectional
(2) Always bidirectional
(3) In any direction
(4) Always downwards
The upper part of an aquatic ecosystem
contains :
(1) Nekton
(2) Plankton
(3) Benthos 22.
(4) Both (1) and (2)
Identify the mismatched pair :
(1) Tundra — Permafrosts
(2) Savannah — Acacia trees
(3) Prairie — Epiphytes
(4) Coniferous forest — Evergreen trees
(7-C)

pssume the following statements and
;dentify the conclusions which follow from
these statements :

Smrements :
Every square is a circle. Every circle is
not 2 triangle. Every triangle is an

ellipse.

Conclusions :
L Every triangle is not a square.
I  Some triangles are squares.

Choose the correct answer from the
following :

(1) Only conclusion I follows.

(2) Only conclusion II follows.
(3) Either conclusion I or II follows.
(4) Neither conclusion I nor 1T follows.

Let A and B travel in a circular path
starting from the same point at a time. A
takes 12 minutes to cover the circular
path once and B takes 30 minutes to
cover the circular path once. How long
will it take for A and B to meet again at
the starting point ? |

(1) 80 minutes
(2) 1 hour
(3) 1 hour and 30 minutes

(4)

2 hours

Find the remainder when 179! is divided

1 o
2) 1
@) o
4 5
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x'= 715 e-md@ logy (730) ﬁﬁoﬂj{o’)

(3)

4)

BORIEBOID.
a 7
(2) 15

.(3) 30

4)

B0eOT BR[TB 2.
7 @3 LCM (x, y) =

- o0Re3 x @R ¥ ﬁﬁmroﬁﬁ@ﬁa’% Jod

& OD.
1) x=7203 y=17

(2) x=49R y=7

(3) x=49308) y=1

4) FoedS TRPYTP B,

p O30 2,083 DL, 0 Slitelu)
10gp2(p log,(1 + logp(p—1+ 2 logp2 p)) 3
23e3 30rEOGROWD.

1) 2
(2) p

(3) 2p
1

2
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2000

2200

2500

eI CIRTTP &),

(1)
(2)
(3)
(4)

18, 24, 30 0342 00T LONATON, TS
ROBBFRQoRMe FeR 1 0, VBRI TR
%055,0308), FOROZROWD.

(1) 2521
(2) 2420
(3) 2519
(4) 2489
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Identify the true statement.
Let [, m and n be three integers, then

(1) Ifldivides m, then m divides /.

(2) Ifl divides m + 1, then ! divides m
and [ divides n.

(3) Ifl divides mn, then either [/ divides
m or [ divides n.

(4) Let [ be any prime number. If [
divides mn, then either [ divides m

or [ divides n.

Let x = 715. Find the value of logy (750).

7

(2) 15

(3) 30

(4) None of the above

Find integers x and y such that
GCD(x,y)=T7and LCM (x,y) =17.

(1) x=Tandy=7

(2) x=49andy=7
(8) x=4%andy=1
(4) All of the above

Let p be any prime number. Find the
value of :
log 2(p logy(1 +log (p — 1+ 2 log > p))).

@ 2
@ p
3 2p
1
2

(4)

(9-C)

27, o’ and B’ can complete a piece of work in

28,

29.

10 and 15 days respectively. If after
working alone for 4 days, ‘A’ leaves the
work and goes home, then how long would
@’ take to finish the remaining work ?

(1) 6days
(2) 9days

3). 12% days

(4) 21days

In an examination, 48% students failed in
Physics 32% students in Mathematics,
20% students failed in both the subjects.
If the number of students who passed the
examination was 880, how many students
appeared in the examination, if the

examination consisted only of these two

subjects ?

(1) 2000
(2) 2200
(3) 2500

(4) None of the above

Find the least number, which when
divided by 18, 24, 30 and 42, will leave in
each case the same remainder 1.

(1) 2591
) 2499
@) 2519
@ 2489
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o
30. 2,00 b BEAT e YVIG 20w | 34. 2,000 odgmad Bngy DR DG

31.

32.

33.

553

wOmR, MILD &3 Sert 2500wmnd ? 26RO T 330N 13 SR 15 NS,

(1) ONRW BRI T0Y Q) ?

(2) NOWR 1) 13

(3) ONWR @ 15

(4) NROW 3) 19

| 4) 195
S, R A T 35. 1ty Saoo €30 08 36 15 knm 2O
L : o) -2 o
382 % = ab@bo359 depoRoms.  BFE 8N 5 km

ZodnesRoes. S033 o@E S0ON 20 km
FoinedozS.  BorT[ST 33 DT
5 km BOIRBRTS 33 BLORY BT

(1) éf&@ﬁ" RIRTED mqﬁz@&g_,

4

(2) T

(3) 035 233530 g&bﬁ?ﬂﬁ'ﬁ)ﬁ ﬁg)ﬁwd@d
4) SO BRRTR B (1) 15km a,g’
(2) 5km
o> RO OS2 T <\ 10 km
80000 BIRYBILTIES ¢ AW | 36, 4 wReAd FoIT IR, e 1508 TOBY,
wOIQ T FINeTI ? T 20,000 $0333 Soees B3FE AR ?
i B 1 =
@ 27 14,980-125
3) 28 (2) ¥ 19,680-125
@) 29

(3) ¥ 16,870-125

203> 0TRCHOR DB P28 Zoed (4) < 18,980-125
Be3SR) T3 sonert T 5,000 ngd. B3
FINSINIY, IR,  Bemotne o, 37. B3 O3 PIWTDRT 29 OING o33

F0TACWOT T3 W TOTTOTRA ﬁedaﬁd 03 O W3BWE ?

T0eeS s, DOAFE FeIONGS ? O —
(1) 25,000
(2) 60,000 | (2) %P0

(4) 30,00,000 @ &gmd

(10-C)
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If in a certain code language BEAT is 3
written as YVZG, then what will be the
code of MILD ?
(1) ONRW
(2) NOWR
(3) ONWR
(4) NROW
Which is greatest among 35
331, 2 and 0357

2 15
(1) Cannot be compared

4
(2) T
3 035
(4) None of the above
If the seventeenth person from the front
in a queue is the eleventh person from
behind, how many persons are there in
the queue ? 36.
(1) 26
(2) 27
3) 28
4) 29
Average salary of five employees in a
company is ¥ 5,000 per month. Which of
the following, in rupees, is the total
annual expenditure on salary for these gt
five employees, by the company ?
(1) 25,000
(2) 60,000
(3) 3,00,000
(4) 30,00,000
(11-C)

The mean and median of a distribution
13 and 15 respectively. What is the

are

value of the mode ?
(1 13

2 15

3 19

(4 195

A person drives his car 15 km towards
North, turns West and travels 5 km, then
turns to his left and travels 20 km and
further travels 5 km towards left. Then
the minimum distance he needs to travel

to reach his original point 1s ﬁ‘D

(1) 15km | LQ-—}—-E
2) 5km ¢ g 59
(3) 10km c
20 km
4) 99 A

5

What would be the ?:ompou%d interest
obtained on an amount of ¥ 20,000 at the

rate of 15% p.a. after 4 years ?

(1) ¥ 14,980-125
@) T 19,680-125
(3) < 16,870-125
(4) ¥ 18,980-125

If today is Sunday, then what day will it
be in 29 days ? ~

@

| Monday
@) Sunday %:)7,‘1 Cf[
®) Saturday 7*%
“ " Priday —
A
o |
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A o3 B 8 3BRETD, ¢ oz B & TP, D
3y ¢ &30 30T, E wkcy D 8 .
=mo8 A €3I D R cIns 008D
<020D0IPNTOZYT ?

A, D 533 Sinayries

A, D T3 a@%ﬁ

A, D 338 2

A, D 338 2R

(1)
(2)
(3)
(4)

RowT T 70,000 1Y Boad e 10w
TTRORI), TWTVoRRBS. 8 sonons

8038 ITH 0WOBIH T 1,80,000 R

- 40.

553

(@)

BeRE [N /e aa-addab 2003

3e80TT. 10T IRED siosd oesd R |

leizodofUnthnlerind e.-asb""aeﬁwgd ?
1 7 6 ;
(2)
(3)

(4)

7:5
8:7

6:4

857 Anus HeCo 15 LEGNYY T
2301 46 TRYSY neATs. ewwd 25
LBCONYE), 259 OJNE THOO Fenzew
neReesas OSSN =0 SR, ?

56

67

7-6

87

(1)

(3)
(4)

41.

42.

033 oD NS oIna  LOnY
RO T3 DrogoRd IRFY TowoHATOS
203 REFOT Lot AT R SV
a;fe@ﬁc:dad% 20388 Bod AR ?

(1) eﬁabzied 110
(2) e_-ss.)zied 111
(3) ©oues 112
4) 0e§ss 113

ORE  ROT  EF goBodn (RBID)

LIOBC N L0 SN FOODF VR BRIBT.
Q@ . B NIRRT, OIRRTIO,
ARWROZT ?

A 238 wWoFERH IR BeSBAIR)
S0° 2 B B LVPRZRORT,

B. s0° 0 mséassmﬂoéar{@ﬁ wﬁ@;mcﬁ
ARODTY AU, VRIS

C. 9T wocdymgosner  O3ecd
DROWT Wi FOT VeI,

S0t 8pughs Hofes
GUITHR), $0%) RN

B @033 C &8,
AR B 308,
A DR C Ing,
A, B33 C

Rosinee, Roosnd

(D
(2)
(3)
4)
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88. If A is B's sister, C is B’s mother, D is C’s
father, E is D’s mother, then how is A

39. Sanjana invested ¥ 70,000 to start a
business. After 8 months Sharan invested
¥ 1,80,000 to join in the same business.
After one year, in what proportion will | 42.

* 40, In the first 15 overs of a criéket match,
the run rate was only 4-6. What should be
the run rate in the remaining 25 overs to |

553

s (2)

WWW.SHIKARAT.COM

related to D ?

(1) A is the granddaughter of D
A is the grandson of D

(3) A is the daughter-in-law of D

(4)  Ais the daughter of D

Sanjana and Sharan share the profit ?

(1) -7:6

(2) T:B
3) 8:7
4 6:4

reach the target of 259 runs ?

(1) 56
2 67 ’
3) 76
(4) 87

(1)
(2)
(3)
(4)

A.

(1)
(2)

(3)

(4)
[13=C}

igé

4 ynder which one of the following Articles
of the Constitution of India, a statement
of estimated receipts and expenditure of
g1 Government of India has to be laid
pefore the Parliament in respect of every
fnan cial year ?

Article 110
Article 111
Article 112
Article 113

t

The Reserve Bank of India (RBI) acts as a
banker’s bank. This would imply which of

the following ?

Other banks retain their deposits
with the RBI.

The RBI lends func_ls to the

commercial banks in times of need.

The RBI advises the commercial

~ banks on monetary matters.

Choose the correct answer using the codes

8iven below :

B and C only
A and B only
A and C only

A,Band C
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(CAT)
43. ﬁ%”ﬁiﬂ@ﬁ%mt}@}u; 45. 30%“%"’#0 Eji&i?b" aimﬁ::;;'ig?
™ SHE, AR, WIRTTIZE !

ooea> Rossrd ZIMO
L S 1 A 3goowod B. ¢egor $3ranwd
sy 3A0ER0n et
-3082
II. o8 Q% 1A B, geogo’ 20T €00 c. &*
- SoeORRNIY, caReyEd ROOWRNT ?
III. AF° 23 3 C. Ej?T_J) DoT EJ)JJOZ% (1) A a’{):)%
o1
(2) B
IV. 98" W' 7 D. somoaoiod :
Smpanocpass| @ C=R
s9rt SouOn 20868 Romyrvg Aotng| @ ATROTRS
g0 S0k 2Rt - |
I o '
. I 46. ¥R FogIodd It FINT IINGY,
(1) D C B A SIRIIT ©33F STRTTNT
@2 D A C B |
: A =deig Ous
3 A B C D
B. s BB 3@neng
4@ A D B C “

C. HRT o

- - - i
44, $9NSR00,ctnd> tRdeeeh B ARy L DoNY SO

TD,COLATT ? G % B0 OTYNFE) o3RFT0 ZO3RAS ?
(1) REF BRF’ (1) ABRRC
2 2OcDo Wordos® - (2) B,C®3D

(3) CRTF QOOERE (3) B =D =ng,

4) A,B,C3QD

(4) REF OB

553 . (14-C)

s T WP
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Match the following :
National
Highway No.

. NH1 A

II. NH1A B.

III. NH 3 C.

IV. NH7 D.

Choose the correct

options given below :

I 11 nr IV
(1) D C 'B
2) ”D  A C
3) A B. C

4 A D B

Who among the following started the

Indian Agriculture Service ?
-~

(1) Lord Curzon «.

(2) William Bentinck

(8) Lord Minto

(4) Lord Ripon

WWW.SHIKARAT.COM

15,

Connected Places
Delhi to Amritsar

Jalandhar to Uri

Agra to Mumbai

Varanasi to
Kanyakumari

answer from the

46.

(15-C)

Gomputerized Axial Tomography (CAT)

scans e

" Gamima rays
Laser beams
C. X-rays

Which of the above is/are correct ?
1) Aonly
() Bonly
3 Conly.

(4) Aand C only

Biodiversity forms the basis for human
existence in the following ways :

A.  Soil formation

B. Prevention of soil erosion
C. Recycling of waste

D. Pollination of crops

Which of the above are correct ?
(1) A,BandC ;

(.2) B,Cand D

(3) BandD only

(4) A,B,CandD
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& ZpRFe
sﬁﬁdﬁdmm
47, 6¢n®ﬂ€;3i 2000 - #Cb 49. gd;d 39N
eRA
SeD¥S 9ch> 2377 - S i
L 353dec A aao;;f‘ 6 rouk
no09, :
" ef OFF C. (eplod
I oF.08F. e B, aw%::;; D zge e
o]
TIF: pibisiese ch&-ge‘ 3 Boutdad Roded BoBndd, BoadRs
- ¢ gs A
S e o3y ol 3R -
2.8 OV (1) D,AB,C
6030 (2) D, C’ AsB
B, D
IV. $3%° o3e D, S 9% Ei; g g’ A:B
AnH |50 3en3Yrids Beoon :
3R deadha @oi%rg@égg p{elesVRley A0 Cplevbint
ngﬁdjq 302 - : STOTENEO
| O m 1v I. 101 A. sy #S08) ooy ne
M B D ¢ A | SROREIY T2, TR
(2) B C D A .330. NPMON 2EEONS
- QRS VT
(3) B- A C D '
@ B ¢ A D II. 102 B. fezﬁcﬁ@j <08 o=
48. 3INSYrvRy ReoD - fg:;mﬁw
! (53]
RO T ooagrieh I11. 103 C. &omber Sy
-
—— Togyeadd esoiraeri'u’;
L g, A ToxoeE RODGT FRFRRT
II. anzE B. c‘,)ummas (NCBC)
I 33nFer C.. DGes IV. 104 D. =&3mon dowre
IV. Bem D. 60%@"565 dr{r% 3e. 10 dw
E. 5333?&35 QDQ’N@DBC@D?&D
| WBNRORID (EWS)
j‘:; 522232302 £;3 AL Batng| 99 touth Hoses R 083196, ooing
V303 o 1
I I m 1y 53@0&%533@. | .
(1) A C E D I II m v
@2 C D A B M B C p 4
@ B E D ¢ @ A B ¢
@2 43 ol |T@poe i
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ange the following cities of India from

47. Match the following : 9. At East:
Name of the Name of the West gilaspur
Author Book Ranchi
1. Shashi A. Fearless B- Bhopal
Tharoor Governance C. Jodhpur
II. S.M. Khan B. gh;e Ba_tltl',: of D-hoos e the correct option from the codes
; elongi ; low :
III. Hamid C. The People’s gwenDbe ,B,C
Ansari President : @) ¢ AB
A.P.J. Abdul @ A B,D
Kalam g’; c: D,, A, B
IV. KiranBedi D. Citizenand J
Society 50. Match the following : :5
Choose the correct answer from the Constitutional  Act
options given below : Amendments ,
I I 11 v [ 101 A. Extensign of ’;,‘he
2 = : reservation o
(1) D C A seats for SCs and
(2) B C D A STs in the Lok
@ B A c D Sabha and State
(4) B : C A D Assemblies
. 102 B. Introduction of the
Goods and
48. Match the following : i‘f EVICeR ;[‘ax Ag
N i | _ e country
S;Il?f ;’; rke Stqte III. 103 C. Constitutionafl
I. Bhadla A. Gujarat sCtatus -to .Natz‘onal
II. Pavagada B. Rajasthan BZE:;I:IS.&(}&;;SGS
III. Kurnool C. Madhya Pradesh (NCBC)
IV. Rewa D. Andhra Pradesh IV. 104 D. Provision of 10%
E. Karnataka reservation for
E :
Choose the correct answer from the V;gzﬁglggéom
options given below : (EWS)
I n  Im IV Choose the correct answer from the
_ options given below :
(1) A C E D I II 111 IV
2 A B :
) D ¢ A B
(4) E A B C (4) C D B A
553 (17-C)
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33 108 BptdLTT )

RS eumron o3 BeEE é; w"“
N ) CIRT umm@oﬂﬁ

A B3 oU0R B8R B oS0

B. 30RO 3R AR 20857

C. B@DD FFT 3,

D. Oegpr 8o esdosos el

59 doughs Rodes Rosiidd, FORT
SUZTIT, 303 [RA :

(1)
(2)
(3)

(4)

“BoTerPE 0800000 BIY 2022”7 F
3R FINTR, S03), BRBRNT ?

(D)

(2)

(3)

(4)

ngé .SHIKARAT.COM

A 3023 B R53,
- 54.

A, B33y C 808,
A, B &3 D 308,

A,B,C &3 D

2. . o'b&-ao:’madﬁd 9230 23F.
635728, ToTBO TR |

RF 0. 3% cbc'\jF =00, EYOUOQ'.’DE‘E) 55.

BNREF, BT VBT

(Cr~elarsy mmw

xR0 38T,
BB zﬁmeads%

D OWIREI

(18-C)

2|58, w3l wmasﬁriraod errplepravialo i

DRy 03RS 6713063 FOEITTR WO

NN ?

(1) =R DoeRend R0 RN
plelenled

(2) pBFY oeInd RO XN
Cplelenied _

(3) 0INTF  QeIRT 08 <N
Cplelenlod

(4) ©ecss DIEZRT IO AN
Cplelenlen

JRowos 2022 T, RT3y O35S

BeBOOT QLW TFT°OT” S
3837 30D QoBOWTT, (BLIN)
ST T SR, BeAERORS) ?

'QSM

(1) @~

@ owoPHa sorgr

(3) BWRFD

(4) T,

“msm;b TRoFOEE 20227 RO
ons BeSdeodnt D00 30UWed
239, 037930530NTS ?

(1) ocba'e:m‘a

(2) &evow

(3) WD

(4) ez <
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51. Which among the following factors are
responsible for the rapid growth of Sugar
production in South India as compared to
North India ?

A. Higher per acre yield for sugarcane
B. Higher sucrose content present in
‘sugarcane
C.  Low labour cost
D. Longer sugarcane crushing period
Choose the correct answer from the
following : 54.
(1) A andB only
(2) A,BandC only
(3) A,BandD only
(4) A,B,CandD
Which of the following personalities have
been selected for the “Kempegowda
International Award 2022” 9
(1) B.S. Yediyurappa, Azim H. Premji, | 55.
Rahul Dravid
(2) S.M. Krishna, NR. Narayana
Murthy, Prakash Padukone
(3) HD. Deve Gowda, Nandan
Nilekani, Arjun Halappa .
(4)  Jagadish Shettar, Sudha Murthy,
Rohan Bopanna
(19-C)

WWW.SHIKARAT.COM

53 Rewari—Madar section which was recently

—ugurated is a part of which Industrial

corridor ?

(1) Western dedicated freight corridor
(2) Eastern dedicated freight corridor

(3) North-East dedicated freight corridor

(4) South-East dedicated freight corridor

In November 2022, India took over the
chairmanship of the Global Partnership
on Artificial Intelligence (GPAI) from
which country ?

(1)

Canada

(2)  United Kingdom

(3) Germany

(4)

France

“Exercise Dharma Guardian 2022” was a
military training exercise in India with
which country ?

(1) Usa

(2)  8p Lanka

(3) Japan

(4) Nepa]
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57.

58.

59.
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Koot -eTDORE LS SR

DRRFETN OINT FoZRodD 2»-405&5
TE0BROBT ?
(1) V0BT
(2)
(3)
(4)

CORFD B0TF tinednr
3T 03Pews

S0TIRRRT AR ed 0%

28 Bens HBIAYR), BosedRed FPOEID
WHVT T oInmg 3"“‘:53 Zoecs
FODFITEBRIZTS

W
@)
@)
@)

DOV’ OO
ARCTT®
mamcf DO

BROOLF JOTOD

NOSTFTR LSRN0 - 3¢ | 61.
JSRRoRT.
(1) 7TRONTess - 280 &
(2) TN — MOBRTT
(3) QR - A0
4) BRLTP — TINTY0T
62.

OInRE  TRE  SRFT RODS MY
DITFBOIR, TTORAT ?
(1) 3oonees
(2) BEOFOTOTD
(3) Bmores
(1) sorgITED

(20-C)

60. SYNIRER), BRODA -

--gdosz,d IRF

o3ReEs
G0 2015

I w;:asﬁ 2008, LVRY A. 25 wRT,
oiraeuﬁ (PMUY)

«:,JCSDES 5303 )

IL

dra en, odraez:ﬁ
(AB-PMJAY)
II1. B =008 C. 23 AFHoWT,
BRI 3w 2018
(PMJDY)

Zo3 308 s’ D. 1 e, 2016
o3news (PMAY)
CE i Tolk evey Roged RosI N, pfeloveplat

V.

UZCRRY, HO3 WRE :

I 1I Im Iv
O\DNP ¢ B A
(2) A D C B
(3) B A D C
(4) C B A D
LomE AR TISD,  TRFLTEY,
030030 m@é’oﬁodda ?

(1) 0320, e3RLe

(2) FF.QFF. BRFIO
(3)  BooBOOTTR Toksew
(4) ROTY o)

3 FINT AdTR FPIF NN, @303
WE MIT eVTFTeRS wWIE oBRE 3RS
QBT OFEOTINGS ?

(1) T93es Seposon

(2) SIdeo30n

(3) a’aqﬁﬁémodnr{

(4) Srezoon
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56- Which company has bagged the contract

57.

58.

59.

953

for construction of Mumbai-Ahmedabad
bullet train ?

(1) GMR
(2) Larsen and Toubro

(3) Tata P]‘Q] ects

(4) Hindustan Construction Company

The radar used by police to check

over-speeding vehicles works on the
principle of

(1) Raman effect
(2) SONAR

(3) Doppler effect
(4) Coulomb effect

Garampani Sanctuary is located at :
(1) Gangtok — Sikkim

(2) Junagarh — Gujarat

(3) Diphu— Assam

(4) Kohima — Nagaland

Which State has launched ‘Arthika
Spandana’ loan disbursal ?

(1) Telangana

(2) Tamil Nadu

(3) Karnataka

(4) Andhra Pradesh

60. M atCh

(21-C)

the following :

National

Scheme

pradhan A

antrl

wala

Yojana

pMUY)

Ayushman B.

Bharat

Pradhan

Mantl'i Jan

Arogy2

Yojana

(AB-PMJAY)

1. Pradhan C. 23" September,
Mantri Jan 2018
Dhan Yojana
(PMJDY)

[v. Pradhan D.
Mantri Awas
Yojana
(PMAY)

Choose the correct answer from the

options given below :

1 II 111 1A\

(1 D C B A

2 . A D C B

3) B A D C

4) C B A D

Hindustani Seva Dal was started in
Karnataka by :

(1)  Y.B. Chavan

(2) N.S. Hardikar

(3)  Mukundrao Patil

(4)  Mahatma Gandhi

Among the following Pre-historic Ages,
€ use of extremely small tools is the

Starting date

25t June, 2015

28tk August,

IL. 2014

1t May, 2016

. typical feature of which age ?

Paleolithic Age
Neolithic Age
Mesolithic Age
Meta] Age

(2)
(3)
(4)
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(1)
(2)
(3)
(4)

33 3INT 220 rbdori#aﬁ:ﬁt 930 FoTOTWLO
STRTED PPLRRTROTE OB

A
B.
C.
D.

391 SR Rosed Rosive, RONRT
V3T &0l IRa : '

(1)
(2)
(3)
(4)

RURD T BT, 38 o)
0B0TRFR), o= LTI, B, QEBEONT :

A

B.

C.
D.

39 é@&id:d Roded :doa%ﬁ@q 200373
QEOATR, 03 BRB :

(1)
(2)
(3)

(4)
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63. = IWNIZNYY, oinm SJexy, Teen
NCBMN, BN, 03, 037 WD
WRR RoLoHRT ?

66.

. arted
oDBIEer I
ORI
Elamianidn

R3O ORI
N3 29300 T°
oty Bono®
gelobRenneRanyl

67.
A,D,C,B
D,C,B, A
A CB,D
C,B,A,D

68.
TRORTOR  CX0G, - WHRD R
35,02300

T 3BT - VR R A0
T -TOY ,
WERD® TN — WESHOD TTY 0° T
260 BRSO TPN - YR =0
230w 11

A B3,
A 303) B 3508,
B &3 C a8, +

A, B,CaRD

(22-C)

W03 4 23eHBecR VDL, ‘
oaaggoiaeamari#o :\%&m g0y Oomdeod

Tgnes 3 297 eBPNG :
A tR03ecd DRQEOD TONA

P BT
B. R0y Qe - GO Fe0 e2T°

C. Rpor Bg - 260 AT

D. a;f"adrzsf (RF - R 0T, HRT
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1 ASR3,

(2 BRRT,

(3) B3R CHRG

@ CRD =R

2 29NS TOEEOBNYY, FIoress BTV
338 Coese308 o3RRI ?

1) IHBI

(2) BToWD '

(3) LTI WILOFTO

(4) TOTBAWTO -

SEONT FoFWBE BSRTRODN, T3S
SeRFtE ARRHTE TWRINTSY B8 3K
NEBNT :

A WITR - A0DIYT +

B. o0 - v30 333

C. Snvsderd — sepe

D. —~ Weo*

S 3oL Roded Ros3nvd, Hooind
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(1) A02)B X3,

(2) Ao C B3

3) BRD @R

@ C=3D AN
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Among the following, which Veda deals
with magical charms and spells which are
used to drive away diseases ?

(1) Rigveda

(2) Yajurveda

(3) Samaveda

(4)

Atharvaveda

Arrange the following Sikh Gurus in
chronological order :

A. Guru Nanak

B. Guru AmarDas '

C. Guru Angad

D. GuruRam Das

Choose the correct option from the codes |

given below :

(1) A,D,C,B

(2) D,C,B,A

3) ACB,D

4) C,B,AD

Following are some of the battles fought

by the British in India with different

rulers : _

A. Battle of Wandiwash — British and
French

B. Battle of Plassey — British and
Siraj-ud-Daulah

C. Battle of Buxar — British and Mir
Qasim S |

D. Battle of Bhima Koregaon — British

66,

68.

67.

gowing & e some political parties
ﬁ;‘ e Nationﬂl Movement :
0 3

ndian  National ~ Congress -

& pherozeshah Mehta
B Muslim League — Abul Kalam Azad
C gwaraj Party — C.R. Das
D Forw ard Bloc — Subhas Chandra

" Bose
Choose the code for the correct matches :
(1) Aonly
2 B only
3y Band Conly
(4) CandD only

Among the following, which is the first
Kannada Royal Dynasty of Karnataka ?

(1) The Satavahanas

(2) The Kadambas

(3) The Chalukyas of Badami
(4) The Rashtrakutas

Following are the modern districts of
Karnataka matched with the Capitals of
ancient empires of Karnataka :

A. Banavasi — Vijayapura

B. Badami - Uttara Kannada

C. Malkheda — Kalaburagi

D. Ka,lyana — Bidar .

and Baji Rao I1 Choose the code for the correct matches :
Choose the code for the correct matches : (1) A and B only
\) by (2) Aand C only
(2) AandBonly
(3) BandD
(3) BandConly and D only
(4) AB,CandD (4)  CandD only
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69. Krishnadevaraya of Vijayanagara was the
son of

(1) Tuluva Narasanayaka and
Thippambike

Tuluva N arasanayaka and
Obambike

Tuluva Narasanayaka and
Nagalambike

Timmarasa and Kamalambike

(2)
(3)

4)

70. Some monuments of the Bahamani

Empire and the rulers who built them,

are given below :
A. Al Adil Shah i

B. Ibrahim Adil —
Shah II

C. Muhammad Adil -
Shah

D. Mahmud Gawan - Bidar Madrasa

Choose the code for the correct matches :

(1) Aonly

(2) B andD only

(8) CandD only

(4) A/B,CandD

Domingo Paes, the medieval traveller,
described the city of

ey
(2)
(3)
(4)

Chikaveera Rajendra was the ruler of
which of the following Principalities of

Karnataka ?
(1)
(2)
(3)
(4)

553

Bara Kaman
Ibrahim Roza

Gol Gumbaz

7L,

Madurai
Vijayanagara
Arikamedu
Gingee

72.

Mysore
Keladi
Kodagu
Chitradurga

73.

74.

75.

der the following statements :
Cor® gur soil is the most widespread
A. I:;l in India.

Regur soil is formed by weathering
B. flava

The water retaining capacity of
C. Regur soil is very high.

— of the above statements is/are

correct ?

(1) AandB ey
(2 BandConly
(3) Bonly

4) ABandC

Which one of the following States has the
longest coastline ?

(1
(2)
(3)
(4)

Gujarat
Maharashtra
Andhra Pradesh
Tamil Nadu

Consider the following statements :

" A, Banihal Mountain Pass lies across

Pir Panjal Range.

B. Pir Panjal Range is a part of
Himadri.

Which of the statements given above
is/are correct ?

(1)
(2)
(3)
(4)

A only

B only

Both A and B
Neither A nor B

(25 - Cir
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76. Consider the following pairs : 78,

i Rivers

A. Sardar Sarovar Dam - Narmada

B. GandhiSagarDam - Yamuna

C. Panchet Hill Dam ~ Disisdas

D. Bhakra Nangal Dam - Sutlej

How many pairs given above are correctiy

- matched ?

(1) Only one pair

(2) Only two pairs

(3) Only three pairs 79.

(4) All four pairs

;77. Which one of the following regions has

the highest percentage of total forest area |-

of India ? “

(1) Himalayan- Region

(2) Peninsular Plateau and Hills .

(3) Western Ghats and Western
Coastal Plains

(4) Eastern Ghats and Eastern Coastal
Plains

553 (27-C)

ceference to coalfields of India,

with the following statements :

caﬂsider
odisha ranks first with respect to
A. coal reserves in India.

Jhal‘ia coalfield is
B‘ Jharkhand.

Raniganj is the largest coalfield of
West Bengal.

located in

C.

Which of the above statements are
coxl'l’ecjG ? |
1) A and B only

2 B and C only
@ AandConly
) A,/BandC

Which of the following depicts the correct
sequence in the context of Preamble of the
Constitution of India ?

(1) Democratic — Secular — Sovereign —
- Republic — Socialist

(2) Sovereign — Socialist — Democratic —
Republic — Secular

(8) Sovereign — Socialist — Democratic —
Secular — Republic

(4) Sovereign — Socialist — Secular —
Democratic — Republic

Which of the following Writ literally
means a command ?

(1) Habeas corpus
(2) Mandamus

(3)  Prohibition

(4) Certiorari
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The “Instrument  of Instructions”

containe‘a in the Government of India
Act, 1935 was incorporated into the
Constitution of India as :

(1) Citizenship

(2) Fundamental Rights

(3) Directive Principles of State Policy
(4) Preamble

Which company among the following won
the National Startup Award 2021 for
Education and Skill Development ?

Thinkerbell Labs Private Limited

(1)

(2) Addictive Learning Technology
Private Limited 86.

(3) Fusion Klassroom Edutech Private
Limited

(4) Indian Leadership Academy Private
Limited

: 87.

Cold Smoking means : T

(1) Method of preserving fish

(2) ' Smoke rising from waterless rivers

(3) Smoke filling for cold storage

(4) Method used for freezing sperm

(29-C)

84,

(1)

85.

an Mantri Formalisation of Micro
il processing Enterprises (PMFME)

cheme was launched by the Ministry of
igod processing Industries in :

July 2020
June 2022
June 2020
July 2022

pradh

(2)
3)
4)

Which of the following has the power to
admit a New State into the Union of

India ?
(1 Parliament
President

@
&)
(4)

Union Government

Supreme Court

Pragyan rover of Chandrayaan-3 mission
has how many wheels ?

(1 2
(2) 3
3) 4
4) 6

In which State/Union Territory was
India’s first District “Good Governance
Index” launched recently ?

Jammu and Kashmir

(1

(2) Delhi

(3) Ladakh
(4) Haryana

Scanned by CamScanner



88.

89.

90.

91.

553

WWW.SHIKARAT.COM

O3S BRI eugsesnd FE Ry
SRBID cdndy 2

(1) . V.05, e:aozSecic‘

(2) ﬁ%mﬁod A,
(3) BTBO R I
(4) d)ma% ™od

AORFRIT FBHII, B850 @f%ﬁdxgd&

o} =

WHRRORT ?

(1) 16

(2) 8

3) 22

(4) RoTPreR eaoneowon
WBOIBBA 29330083

3INT oInT eR0E wERE, AR WO
G euQsmetor (MSME) S0T0
WEARLD  ‘DEoR esedady  odpendeddm)
2300R 3003 ?

(1)
_(2)

BROF 3T VTR TRRCED tTR0T"

FeTP Mo,00ee 139,05

(3) 503 BT Mo0eEd LROF* 94.
(4) ©RP ML DT W0T
0030E), 03NS THD) B[P0
BTRE, SLwT odRexs o0,
2RONPPAT ?
(1) SOT0H,
@ =P TR
(3) %eC%
4)  WRR,

(30-C)

9_2.

93.

modn  oaRs %
ermod, BowdID %J-@;w e
sumedod 30esER (MOU)

(1) mOEoS

2) ev33 B3es
(8) Booredw

(4) ﬁéﬁﬁa womfﬁ_

Igor” Q0T ?

o> Tedd 0RO, TRIFTIOR,
Beed Znd BeSTRFNS m%mddsig{
RFIRRPRORT

o HFede BBIEDTY Sexed RPR

(1)

(2)

o0Ey  dedns 8@ 359,390
DRDRBCDDITNS

3) a@d Dedeodd WYTOTBL, Rote030
TOBIRNG

(4 ©030moeed TRICREY, RTBNY
BINSOZ 003N e
ﬁoejﬁ&eob@om@t ARAOTED
©Em FOCIPARED WSROT Now033
AR BHOD BoBTONT

SRoDT  ¢RTESDY).  seFY
wmaeédmd&qwdo@ﬁmoﬁoé\a.

(1) Fods TomIN ﬁacgsaeéodaé};
NEARe0 WREDRFERL

270886030 BRTDOIOI)

RVORIF A0S

NTede 3¢0 BREIR RooD/TeS

B oSo0oD BEeR03Bany
SRcmRIDH *

3ot IO, aba)’%d QLR

(2)

(3)

(4)

Scanned by CamScanner

N T T i e . L nm————



88. Who drafted the Objectives Resolution of

89.

90.

91.
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the Indian Constitution ?

(1) Dr. B.R. Ambedkar
(2) Sachchidananda Sinha
(3) Jawaharlal Nehru

(4) Mahatma Gandhi

How many members does the Public
Accounts Committee consist of ?

(1) 16

(2) 8

3) 22

(4) Subject to change depending on the
circumstances

Which of the following banks launched
“Vikas Abhaya’ Scheme to provide relief to
Micro, Small and Medium Enterprises
(MSME) ?

(1) Karnataka Vikas Grameena Bank

(2) Kerala Gramin Bank

(3) Andhra Pradesh Grameena Vikas
Bank

(4) Assam Gramin Vikash Bank

Which ils- the first State in India which
implemented Midday Meal scheme ?

(1) Maharashtra

(2) Madhya Pradesh
(38) Kerala

(4) Odisha

(31-C)

92.

93.

94.

Which Indian  State signed a

Memorandum of Understanding (MOU)

with Flipkart to support mango farmers ?

(1) Gujarat

(2) Uttar Pradesh

(3) Karnataka

(4) West Bengal

What is Hedging ?

(1) Hedging is depositing the country

- currency in the banks to smoothen

the trade within the country

(2) Hedging is depositing the foreign
currency to smoothen the trade
between two countries

(3) Hedging is risk aversion in the
domestic trade

(4) A risk management strategy used in

limiting or offsetting probability of
loss from fluctuations in the prices
of commodities in the international
trade

Economic libezjalisation in India started
with :

(1) Substantial changes in industrial
licensing policy )

(2)  The convertibility of the Indian

 rupee

() Doing away with procedural
formalities for Foreign Direct
Investment

(4)

Significant reduction in tax rates

Scanned by CamScanner



95.

96.

97.

(2)

553

WWW.SHIKARAT.COM

B03 SBFY Descy o NS P oy
— e

WIDBBY.  mymsers S0V B
TRIBIDR) Bodds ? .

(D) MR  gmodterl PR
(Rmoodr3s)

08-3o3 g mRIY
S,TTT eVT0EF0E?

BAChOR aebmecdd,BEF

(2)
(3)
(4)

PRRES F0000 2013 T FF0, FFTY
BB e.rucgeeiri@mh' Q00T RO
eSTRREROR BFy Po WOT OFY
SeTmN JoD0SATR. e BRIETT Wt :
(1) &sr{%}btgq

(2) BT 80% weRT BoEDOWNE
FEOITINT

BT 70% eB Rr00WND
FEHODTONG

BT 50% 0@ BokDOWNEH

BT 000N

(3)

(4).

33, Cieadab BRENIRY;

(1) ROBne  BPYFADY, Bz =)
Rogone We@so gy
Ao BIPEDY, B oy
RoBoNY 3eRFoDY 293

OBty PP Bmres o
Rosond We@dode 3?&@§ 3
Roong =TT B g
2BITNTIZTS

3)
4)

(32

98. Zeomd> RO3NY D3
=)
R QoD PSS

(1)

(2)

(3

(4)

2RI

w@—@—a@r{@ﬁ BRTE0

soEarea) LENI

- 223 @gbcjaﬁ Am0=03
P

VI
Tonw B¢
Be&gm0oN
RREORT
2150 RIB0ETOR Zesns @OZITO

RO TED IR RIINGS, Q5OROT)TI

eOTDNG QP

99. resdzT ngda’bod 20T -

(1)

IR Ba AL FogemeNtogR

- 98038 8,6300380 BRRY,
BeR030aTHITIBOBH [OYS

(2)
(3)

(4)

RTOTREN TN BT RB-933
L3S abm%ﬁmﬁd:@demd S{aplevy
TR FoBET IRNT TowWF VT3

(2) 3033 (3) CRR

100. =33 B3R, 20T3e0 ?

(1)

(2)

(3)

(4)

=)

09 SR Be00n wogoogead
TTOTE) WHRIR Bedeodd 30,
ST InREAR B8 mmEsaD
ARV IR Bedeody 3O,
BOTTAFAD  TTT
BREEN SROBTRTG stz d@m; '
B3N 3, WD WIRDT DFeremn
35D, -

SR BT ) SRR Bedy

37t Fowogdzey SReDYe THRang
S Ge)
AR ReORTR) BROY)

Scanned by CamScanner



95.

96.

97.

553

WWW.SHIKARAT.COM

New Economic Policy has greater

98,
relevance to the rural sector in the
context of one of the following :

(1)  Subsidies to the rural industries
(2) Bio-technological innovations
(83) Trade liberalisation
(4) Increasing input to agriculture
According to the Land Acquisition
Act, 2013, when the Government acquires 99.
land for public purposes and controls the
land bank directly, the land owners’
consent :
(1) is not necessary
(2) of at least 80% of the affected
families is mandatory '
(3) of at least 70% of the affected
families i dat
amilies is mandatory 100,
(4) of at least 50% of the affected
families is mandatory
In the Cost Push Inflation :
(1) There is decline in the supply of
goods and increase in the demand
for goods
(2) There is increase in the supply of
goods and decline in the demand for
goods
(3) Supply of goods increases and the
demand for goods also increases
(4) Supply and demand for the goods
" remain the same -
(33-C)

The spread of financial institutions

. n_ﬂuenCeS the level of economic
i _ :
development by :

) Providing an outlet and incentive

for productive savings

Making available more funds to
investors

Alleviating many of the problems

(2)

3)

and  inequities  of ” developing
countries -

(4) All of the above

Gated stagflationis: = Y :

1 A situation where growth is low but
positive, because the rich are

‘becoming richer .
Co-existence of unemployment and
inflation

A situation where growth is not only
negative but there is also equal
distribution of income and wealth

Both (2) and (3) .

(2)

(3)

(4)

What is Vehicle Currency ?
(1)

The domestic currency used in
international trade by the exporting

country

(2) The importing country settling the
Balance of Payment in the domestic

currency

The currency used to invoice an
trade.
especially when / it

(3)

international transaction,
is not the
national currency of either the
importer or the exporter .

(4)  The exporting country or importing
country settling their Balance of
Payments in the domestic currency

of the respective country concerned
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